Q R E TTE R Technic

GERMANY

GARAGE STORAGE SYSTEM INSTALLATION INSTRUCTIONS

=

/

o
/

Austria Tools e'U’ J\m
A-Tools Werkzeuge

Heindlkai 3

4310 Mauthausen il
Mobil: 0660 818 70 51

Office@austriatools.at
www.werkzeugonline.at

&




HARDWARE CONTENTS

DESCRIPTION QTY

M5X20 32 %;
M6X16 (400 g g -)
M6 80

ONNO ©  ©

@ M8-180P M6-140P 320 e @

MmO W > 5

@ M8-180P M6-140P 320

RECOMMENDED TOOLS FOR INSTALLATION

FOR (A)(3)(D)




@mm M6X16 148 Step 1: Install adjustable & fixed legs under all cabinets by M6 X 16 & M8 X 20 bolts

M8 148

M6X20 148

16
&
e B
- 2 | R :
— = o[ =
1l
% I | e
=
— . j\
° \u




Step 2: Connect and fix the cabinets by M6 X 16 screws and nuts.
M6X16 | 40 P Y

{0

M6 40




I? A A ? ?\ ?\%3 If\ A A A B
i il m ol r
| — [ | T
— ° ]
'\.c\ /
| g *
R H_/' J \!,
-_E L I <
— 5o | . J i
R s il 5
/ ) = ‘ A: Wide Posts
'\ - /@ ) B: Slim Posts fmm | Me«16 |60

| / S | M6 60
\\ 2 M6 60

-

-1 —

Step 3: Install 12 posts at the rear of the units by M6x16 bolts and make sure back panels are in middle of two cabinets.



K | M5x20 |32

N/
\

&

%

7
\

od boards by M5 X 20 screws

Step 4: Fix4 rubberwo



40

M6x16 |40
40

Step 5: Install 10 perforated panels by M6 X 16 bolts.

M6
M6

S

— IO

AT
=

)

)

S

RIS
LRttt
Seuanatiitiiee

=== Ji1I

)
—————————1\ ¢

)
e————T\P




M6%16 |40 Step 6: Connect 9 upper cabinets using M6 X 16 screws and nuts. Then fix the upper cabinets by screws.

M6 40

i




Quw | M6x16 |40
-) M6 54
M6 54

AT
/
| (=3
\

AN

——@ T

|
—
—
——
Q
Q
—
[g\%‘[é




Step 7: Assemble 4 inner boards into the high cabinets, and 1 boards into the top cabinets.

—

I A

LA

I

—
—

-

\







	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11

